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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

[PART A: Grammar & Vocabulary ]

61- Newton built the first practical reflecting telescope and used it ... objects in space.
1) so that he will observe 2) in order that he can observe
3) in order he would observe 4) so as to observe
62- They ... asked him to leave there. He was the most creative person on their team.
1) should have 2) must have 3) shouldn’t have 4) couldn’t have
63- All the men were being deported ... the real guilty people in the disaster have not been identified
yet.
1) so that 2) whether 3) since 4) even though
64- He decided to confuse us with questions completely ... to the main subject.
1) domestic 2) atrificial 3) scientific 4) irrelevant
65- Difficulties with China doubtlessly showed the ... of having an independent source of supply.
1) community 2) density 3) advisability 4) variety
66- He said himself that he was unable to ... a picture, and he never sought to produce anything that
he would call a work of original art.
1) compose 2) update 3) transfer 4) predict
67- She dared to get closer to where they were standing and hit a small box ... from the shelf, pushing
it under everything else to the bottom of the bag.
1) mostly 2) carefully 3) certainly 4) entirely
68- To speed up technology innovation and ... high-technology, we need the support of risk investment.

1) magnify 2) evaluate 3) compute 4) industrialize
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

Approximately 250 million of the world’s children, between the ages of 5 and 14, work at least part time,
according to the International Labor Organization (ILO). Of these, 120 million children are working full
time to help support their impoverished families. ... (69) ... child labor is most common in developing
countries, it is found throughout the world, ... (70)... the United States of America. Many of these
children are ... (71)... to become beggars, farm hands, and factory workers. They are exposed to
conditions ... (72) ... harmful to their physical and mental well-being.

69-1) Although 2) So that 3) However 4) Whereas
70-1) except 2) as well 3) as long as 4) including
71-1) attached 2) forced 3) accessed 4) required

72-1) extremely 2) confidently 3) formerly 4) naturally

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

Passage 1

Despite their huge size and having many more cells than humans, cancer among elephants is
quite rare, and new research may explain why. “It turns out that elephant cells have 38 additional
modified copies (alleles) of a gene that encodes p53, a well-defined tumor suppressor, as compared
to humans, who have only two,” researchers at the University of Utah said in a study appearing in
today’s issue of the Journal of the American Medical Association (JAMA).

The report also says elephants also have a “more robust mechanism for killing damaged cells”
that could become cancerous. According to the researchers, among isolated elephant cells,
damaged and possibly precancerous cells are destroyed at twice the rate of healthy human cells and
five times the rate of human cells with Li-Fraumeni Syndrome, with only one working copy of p53.
People with this syndrome have more than 90 percent lifetime cancer risk in children and adults.

Because elephants have more than 100 times the number of cells of human, they would seem to
have 100 times more chance of becoming cancerous. But this is not the case. “By all logical
reasoning, elephants should be developing a tremendous amount of cancer, and in fact, they should
be extinct by now due to such a high risk for cancer,” said Joshua Schiffman, a pediatric oncologist
at the Huntsman Cancer Institute at the University of Utah School of Medicine in a statement. “We
think that making more p53 is nature’s way of keeping this species alive.” In fact, his research
indicates that elephants, living between 50 and 70 years, have a cancer mortality rate of just under
five percent, compared to 11 to 25 percent in humans.

73- Based on the passage, damaged and possibly precancerous cells in people having Li-Fraumeni
Syndrome are destroyed ... .
1) at the same rate of healthy human cells 2) at five times the rate of elephant cells
3) much faster than healthy human cells 4) five times slower than elephant cells
74- According to Joshua Schiffman’s scientific findings, ... .
1) humans have more genes that encode p53 than elephants do
2) it is predicted that elephants are going to be extinct because of cancer
3) cancer mortality rate in elephants is lower than that of humans
4) humans naturally produce more p53 comparing to elephants
75- The writer of the passage mainly wants to say that ... .
1) all the efforts to cure the cancer have been ineffective so far
2) people with Li-Fraumeni Syndrome have a higher cancer risk
3) p53 plays an important part in destroying cancerous cells
4) elephants’ huge size helps them to handle cancerous cells
76- The underlined pronoun “they” in the third paragraph refers to ... .
1) cells 2) elephants 3) people 4) cancerous cells
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Passage 2

It is easy to make a delicious hamburger at home. But would this hamburger still look delicious
after it sat on your kitchen table under very bright lights for six hours? If someone took a picture
or made a video of this hamburger after the sixth hour, would anyone want to eat it? More
importantly, do you think you could get millions of people to pay money for this hamburger? These
are the questions that fast food companies worry about when they produce commercials or print
ads for their products. Video and photo-shoots often last many hours. The lights that the
photographers use can be extremely hot. These conditions can cause the food to look quite
unappealing to potential consumers. Therefore, the menu items that you see in fast food
commercials are probably not actually edible.

The first step towards building the perfect commercial hamburger is the bun. The food stylist
sorts through hundreds of buns until he or she finds one with no wrinkles. Next, the stylist
carefully rearranges the sesame seeds on the bun using glue and tweezers for maximum visual
appeal. The bun is then sprayed with a waterproofing solution so that it will not get soggy from
contact with other ingredients, the lights, or the humidity in the room.

Next, the food stylist shapes a meat patty into a perfect circle. Only the outside of the meat gets
cooked—the inside is left uncooked. The food stylist then paints the outside of the meat patty with a
mixture of oil, molasses, and brown food coloring. Grill marks are painted into the meat using hot
metal skewers.

Finally, the food stylist searches through dozens of tomatoes and lettuce to find the best-looking
produce. One leaf of lettuce and one center slice of the reddest tomato are selected and then
sprayed with glycerin to keep them looking fresh. Now the question is, “Are you still hungry?”.

77- The author’s primary purpose is to ... .
1) make readers accept not to eat at fast food restaurants
2) explain how fast food companies make their food look delicious in commercials
3) teach readers how to make delicious-looking food at home
4) criticize fast food companies for lying about their products in commercials
78- As used in paragraph 1, something is edible if it ... .
1) can safely be eaten 2) looks very delicious
3) seems much smaller in real life 4) tastes good
79- According to the passage, a food stylist working on a hamburger commercial might use glue to ... .
1) make sure the meat patty stays attached to the bun
2) keep the sesame seeds on the bun in perfect order
3) arrange the lettuce on the tomato
4) hold the entire hamburger together
80- Based on the information of the passage, it is most important for the lettuce and tomato used in a
fast food hamburger commercial to ... .
1) have a great taste 2) be in the perfect shape and size
3) appear natural 4) look fresh
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